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Nl = 1 n=1
o Inx(n=-1)! n>1

def factorial(n):

. . .
if n == 1: return 1l cuJi s

return n * |factorial(n - 1)

T
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;b sl

N L}i)sﬁeré 4%anL91A []
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factorial(5)
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factorial(4)
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factorial(3)
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factorial(2)

2 factorial(l)
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n!' =1 % 2 % % (n — 1) * n
factorial (5)
factorial (4)
nl = 1 n= £ Lal (3
o nx(n-1)! n>1 actorial(3)

factorial (2)

factorial (1)

. return 1
def factorial(n):
P return 2*1 = 2

1 == " il U =B

if n 1: return li<— cuiljl @b s A =
return n *|factorial(n - 1) return 4*6 = 24

T return 5*24 = 120
U (9Bl
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gcd (4032, 1272) = 24. Jte O
4032 = 26 * 32 % 71
1272 = 23 * 31 * 531
— 3 % 1
JEs s e [INtE=

LS)-‘“S Slacl Ls)’l...ooot.o O
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_ (v 0=t
ged(p,q) = {gcd(q,p%CI) otherwise

gcd (1440, 408)

gcd (408, 216)
gcd (216, 192)
= gcd (192, 24)
gcd (24, 0)

24

\1440 = 3 * 408 + 216
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gcd (1440, 408)

ged(p, q) = {gcd(q,p%q) othezwisg gcd (408, 216)
gcd (216, 192)
gcd (192, 24)
gcd (24, 0)
def gcd(p, q): return 24
if g == 0: return p return 24
return gcd(q, p % q) return 24

return 24

return 24
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. f h t
import sys

def moves(n, f, t, h): i ‘ ‘
if n == 0:
return

moves(n - 1, f, h, t)
print(str(f) + * --> 7 + str(t))

moves(n - 1, h, t, f)

def main(Q): ‘
n = int(sys.argv[1l])
moves(n, 1, 3, 2)

1f _name__ == ‘_ main__’: ‘ i

main()
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R EEEE————————...,

'impor't Sys % python towersofhanoi.py 1
IRN=t=E
def moves(n, f, t, h):
if n == % python towersofhanoi.py 2
return Lo 2
1 ——> 3
moves(n - 1, f, h, t) 5 s 3
print(str(f) + * --> 7 + str(t))
moves(n - l’ h’ t, f) % python towersofhanoi.py 3
1 ——> 3
def main(Q): 1 —=> 2
n = int(sys.argv[1l]) 3 -=> 2
moves(n, 1, 3, 2) 1 ——> 3
2 =l
if _name__ == ‘__main__": 2 -—> 3
main() 1 -->3
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def moves(n, f,

if n ==

return

moves(n - 1,
print(str(f)

moves(n - 1,

t, h):

f, h, ©
+ ° --> 7 + str(t))
h, t, )
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def graycode(n):

if n == 0: return [‘’] 0 |00
codel = graycode(n - 1) 0 Ol'e—-ngowﬁf
code2 = codell[::-1] 0|11
0 (10
for i in range(len(codel)): 1 1o
codel[1] = ‘0’ + codel[i] 1111 ¥ s o
e—-“wa )
for i in range(len(code?2)): 101 (apis (wolas)
code2[1] = ‘1" + code2[1] 1|00

return codel + code?
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def draw(n, sz, x, y):

if n ==
x0, x1 =
y0, yl =

stddraw.line(x0, y, x1, y)
stddraw.line(x0, y0, x0, yl)
stddraw. line(x1, y0, x1, yl)

draw(n
draw(n
draw(n
draw(n

def main():

: return

X - sz/2, X + sz/2
y - sz/2, y + sz/2

sz/2,
sz/2,
sz/2,
sz/2,

x0,
x0,
x1,
x1,

n = int(sys.argv[1])

stddraw
draw(n,
stddraw

if __name__
main()

‘ main__’:

y0)
yl)
y0)
yD)

setPenRadius(0.0)
0.5, 0.5, 0.5)
show()
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def curve(x0, yO0, x1, yl, variance, scale_factor):

(X, Ym + 6)
# stop if interval is sufficiently small
if x1 - x0 < .01: ) o
stddraw.line(x0, y0, x1, yl) 71 B
return )
xm= (0 + x1) / 2.0
ym = (y0 + y1) / 2.0 (%0, o)
delta = stdrandom.gaussian(0, math.sqgrt(variance))
curve(x0, y0, xm, ym + delta, variance / scale_factor, scale_factor)
curve(xm, ym + delta, x1, yl, variance / scale_factor, scale_factor) w”““”vﬁwmwﬁyﬂ“f

def main(Q):
h = float(sys.argv[1])
scale_factor = 2 ** (2.0 * h)
stddraw.setPenRadius(0.0)
stddraw.clear(stddraw.LIGHT_GRAY)
curve(0.0, 0.5, 1.0, 0.5, .01, scale_factor)
stddraw.show()

if _name__ == ‘__main__’:
main()
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(LS 5k o) b cdls 0,5 yhgel 3 O
Sy olid g aile So 0 Al 1S 4 el S (30,5 ol 8 D
def H(n):
return H(h-1) + 1.0/n
i S Sz &S (bl Jo sl (550 sl Sls,8 5l eslina] O
def H(n):

if n == : return 1.0 #,

return H(n) + 1.0/n
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def fib(n):
if n == 0: return O
if n == 1: return 1

return fib(n-1) + fib(n-2)

Fh:= FHJ +'Fh2

fib (5)
fib(4)
fib (3)

sl sled Sl Sz Gl (6,,S8 Olawlzs Judo 4 sl Sao 3 ool iS50 &6 G O

fib (2)
fib (1)

£ib (0)

return

return

return

1+0

1

£fib (1)
return
return 1+1

1
= 2

£fib (2)
£fib (1)
return
£ib (0)
return
return 140

o

s
S bl
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mport sys % python fibonacciR.py 5
5
def fib(n):
(n) % python fibonacciR.py 10
if n == 0: return O 55
if n == 1: return 1 % python fibonacciR.py 12
. . 144
return f1b(n_1) + f1b(n_2) % python fibonacciR.py 50 .
Usb ad i
n = int(sys.argv[1]) 12586269025 < " o
% python fibonacciR.py 60 ’ o
print(fib(n)) x\\

N

sl oy T $5lpl e GUI, UT



500318 slacl (5l INS)0 (Hlgalys Cia)s

I EEE—————————————=——,

F(6) (8)

F(5) (s5)

F(4) (3] (3)

F(3) (2] (2) (2]

F@ | (1) (1) (1 (1) (1)
o @\ @ @ O\ O O\ O O

F0) O O O O O

1WA - (5015 pol sy — (ANS)L @3le3 - PeTk b ugiasly



500318 slacl (5l INS)0 (Hlgalys Cia)s

_fv |
3L F(60) aulre sla o F(N) Jlez1,8 cleds slaws [ Slo € 0sS (5,8 O
n C,
F (60
60 ] F, ©OM
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import sys

memo = [0] * 200

def fib(n): .Qb;ﬁl)dhomwbmu@|m;|n
if n == 1: return 1 OIS oy ol e 9 S 0 )]
if memo[n] == % python fibonacciM.py 60

memo[n] = fib(nh-1) + fib(n-2) 1548008755920
return memo[n] % python fibonacciM.py 80
23416728348467685
n = int(sys.argv[1]) % python fibonacciM.py 100
pr1' nt(ﬁ'b(n)) 354224848179261915075
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def fib(n):

F=1[0] * (n+ 1)
F[O], F[1] =0, 1 . . , , \ ;
for i in range(2, n + 1):
1 1 2 3 5
nrmee@n e D DR
return F[n]

fib(5)
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def fib(n):
F=1[0] * (n + 1)
F[0], F[1] =0, 1

% python fibonacci.py 60
1548008755920

% python fibonacci.py 80

for i in range(2, n + 1): 23416728348467685
F[i] = F[i - 1] + F[i - 2] % python fibonacci.py 100

354224848179261915075

return F[n]
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S = ggcaccacg t = acggcggatacg
cac ggcaccacg gacg acggcggatacg
gcaacg ggcaccacg 99999 acggcggatacg
(ggcaacg) ggcaccacg cggcgg acggcggatacg
ggcacacg ggcaccacg (ggcaacg) acggcgogatacg
- ggggaacg acggcggatacg
[N Job a4 acs, S o allss ;27

Db g0 o 3l gladlos g aS conl glas, 3 Vb T 9 S S i Alio p) o 5 Yol oy x5 O
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opt[1, J1 ,ot[J..N) gs[1..M) S i alios; pisVYeb opsd 0,S0g, O

Ex:i=6,j=7 e 4w O
J =NL1 =MS5IO
opt[i][j] =0

s[1] = t[3] Slo

opt[1][]] = opt[i1+1][j+1] + 1

s[6..9) = acg
t[7..12) = atacg
LCS(cg, tacg) = cg
LCS(acg, atacg) = acg

Sygo (pl e ;00
opt[j][j] = maxCopt[1+1][j], opt[i1][j+1])
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_f F .
O Job 5 S e allis 3 o 3 Vsb 533L (sl LIS pi 9801 S o

opt[1, J1 ,ot[J..N) gs[1..M) S i alios; pisVYeb opsd 0,S0g, O

Ex:i=6,j=4 e 4w O
J =NL1 =MS5IO
opt[i][j] = 0O
s[1] = t[]] Slo
opt[i1][j] = opt[1+1][J+1] + 1

s[6..9) = acg

t[4..12) = cggatacg
LCS(acg, ggatacg) = acg
LCS(cg, cggatacg) = cg

LCS(acg, cggatacg) = acg g0 ol g 3 O
) 2 )

opt[j1[j] = max(Copt[i+1][j], opt[i][j+1])
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opt[i1][j] = opt[i1+1]1[j+1] + 1
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opt[il[]j] =
maxCopt[1+1][j], opt[i]l[j+1])
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opt[il[]j] =
maxCopt[1+1][j], opt[i]l[j+1])
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opt[i][]j] =
max Copt[1+1]1[j]1, opt[i]l[j+1]1)
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opt[i1][j] = opt[1+1]1[j+1] + 1
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opt[i][]j] =
max Copt[1+1]1[j]1, opt[i]l[j+1]1)
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opt[il[]j] =

maxCopt[1+1][j], opt[i]l[j+1]1)
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def LCS(s, t):
m, n = len(s), len(t)
opt = [[0] * (n+1) for i in range(m+1)]
i A FERERE = L, =, =AE % python 1cs.py ggcaccacg acggcggatacg
for j in range(n - 1, -1, -1): 7
if s[i1] == t[j]:
opt[i][j] = opt[i+1][j+1] + 1
else:
opt[1][J] = max(opt[i+1][]j], opt[1]1[j+11)

return opt[0][0]
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S = ggcaccacg
t = acggcggatacg
LCS(s, t) = ggcaacg
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